BEREHRE=2) T RIFEET/1~7/31)

By Gy/h=p Sv/h
A H BIERZ [ERITEE | KBTERE| BB ITHRE[EHRAER| BEERT | B &
17~ 18B5LE 0.12 0.20 0.47 0.84 0.30
7318 [11~12858 0.12 0.20 0.47 0.86 0.28
7~ 8RFLE 0.11 0.20 0.50 0.87 0.33
17~ 18B5tE 0.10 0.20 0.47 0.83 0.30
78308 [11~1285t8 0.12 0.20 0.46 0.83 0.29
7~ 8EFLE 0.11 0.19 0.47 0.89 0.31
17~ 18B5LE 0.11 0.19 0.47 0.87 0.32
7A298 |[11~128%t8 0.12 0.22 0.46 0.75 0.33
7~ 8H5LE 0.10 0.20 0.46 0.87 0.29
17~18B5tE 0.11 0.20 0.45 0.85 0.31
78288 [11~1285t8 0.10 0.19 0.44 0.85 0.32
7~ 8EFLE 0.11 0.21 0.46 0.86 0.33
17~ 18B5tLE 0.11 0.20 0.48 0.81 0.32
78278 |[11~128%t8 0.11 0.18 0.47 0.78 0.30
7~ SHELE 0.11 0.20 0.44 0.91 0.28
17~18B5tE 0.10 0.19 0.45 0.82 0.31
78268 [11~12858 0.12 0.18 0.46 0.85 0.31
7~ 8EFLE 0.11 0.20 0.45 0.85 0.30
17~ 18R5LE 0.13 0.19 0.48 0.88 0.32
7H258 [11~1285t8 0.11 0.19 0.49 0.86 0.32
7~ SHELE 0.11 0.17 0.43 0.90 0.24
17~ 18B5tE 0.11 0.17 0.48 0.87 0.28
78248 [11~12858 0.11 0.20 0.50 0.90 0.32
7~ 8EFLE 0.13 0.20 0.49 0.86 0.31
17~ 18R5LE 0.11 0.18 0.46 0.82 0.28
78238 [11~1285t8 0.11 0.18 0.50 0.87 0.31
7~ SRELE 0.10 0.20 0.49 0.88 0.30
17~ 18B%LE 0.11 0.18 0.42 0.88 0.30
7228 [11~1285t8 0.10 0.18 0.47 0.82 0.31
7~ 8RFLE 0.10 0.20 0.48 0.83 0.32
17~ 18R5LH 0.11 0.20 0.48 0.82 0.33
7218 [11~1285t8 0.13 0.18 0.44 0.87 0.31
7~ SHELE 0.11 0.20 0.44 0.81 0.31
17~ 18B%LE 0.11 0.17 0.42 0.76 0.25
78208 [11~1285t8 0.11 0.18 0.46 0.83 0.31
7~ 8RFLE 0.10 0.19 0.43 0.88 0.28
17~ 1805tE 0.11 0.19 0.47 0.85 0.30
78198 [11~12858 0.12 0.18 0.47 0.87 0.29
7~ SRELE 0.12 0.22 0.49 0.87 0.30
17~18B%tLE 0.13 0.21 0.49 1.00 0.34
7H188 [11~1285t8 0.15 0.22 0.51 0.98 0.33
7~ 8RFLE 0.11 0.19 0.44 0.84 0.30
17~ 1805tE 0.12 0.19 0.46 0.86 0.33
78178 [11~12858 0.12 0.19 0.50 0.89 0.31
7~ SRELE 0.12 0.21 0.51 0.84 0.33
17~18B%tLE 0.12 0.21 0.50 0.90 0.32
7H168 [11~1285t8 0.10 0.19 0.44 0.85 0.29
7~ 8RFLE 0.10 0.19 0.46 0.83 0.30
17~ 18B5tE 0.12 0.18 0.50 0.87 0.32
78158 [11~12858 0.11 0.18 0.46 0.85 0.32
7~ 8EFLE 0.12 0.20 0.46 0.80 0.32
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BEREHRE=2) T RIFEET/1~7/31)

By Gy/h=p Sv/h
A H BIERZ [ERITEE | KBTERE | BBRITHRE|[EHRAEE| BEERT | B &
17~ 18B5LE 0.12 0.19 0.47 0.87 0.32
7H148 [11~1285t8 0.10 0.21 0.46 0.89 0.34
7~ 8RFLE 0.11 0.19 0.50 0.94 0.28
17~ 18B5tE 0.11 0.21 0.39 0.84 0.32
78138 [11~1285t8 0.12 0.18 0.48 0.89 0.32
7~ 8EFLE 0.11 0.19 0.49 0.88 0.33
17~ 18B5LE 0.11 0.20 0.48 0.88 0.33
7H128 [11~1285t8 0.11 0.20 0.46 0.82 0.33
7~ 8H5LE 0.11 0.19 0.52 0.93 0.29
17~18B5tE 0.11 0.19 0.43 0.92 0.33
7TA1B [11~128568 0.11 0.19 0.48 0.89 0.31
7~ 8EFLE 0.12 0.19 0.48 0.94 0.30
17~ 18B5tLE 0.11 0.21 0.52 0.92 0.30
7H108 [11~1285t8 0.12 0.21 0.52 0.91 0.32
7~ SHELE 0.12 0.20 0.48 0.93 0.35
17~18B5tE 0.12 0.21 0.50 0.92 0.34
798 [11~1285t8 0.11 0.19 0.46 0.86 0.29
7~ 8EFLE 0.13 0.19 0.48 0.92 0.34
17~ 18R5LE 0.12 0.18 0.46 0.87 0.33
7888 [11~1285t8 0.12 0.20 0.49 0.94 0.32
7~ SHELE 0.12 0.21 0.48 0.87 0.34
17~ 18B5tE 0.13 0.20 0.44 0.93 0.34
7878  [11~1285t8 0.10 0.18 0.46 0.86 0.32
7~ 8EFLE 0.11 0.19 0.49 0.87 0.30
17~ 18R5LE 0.11 0.18 0.48 0.87 0.32
7868 [11~1285t8 0.12 0.20 0.49 0.87 0.33
7~ SRELE 0.12 0.20 0.49 0.86 0.33
17~ 18B%LE 0.11 0.20 0.46 0.88 0.30
7858 [11~1285t8 0.11 0.19 0.48 0.91 0.35
7~ 8RFLE 0.11 0.21 0.48 0.90 0.33
17~ 18R5LH 0.13 0.19 0.48 0.86 0.35
7848 [11~1285t8 0.12 0.20 0.47 0.92 0.35
7~ SHELE 0.14 0.21 0.53 1.04 0.33
17~ 18B%LE 0.12 0.20 0.51 0.88 0.32
7838 [11~1285t8 0.12 0.20 0.51 0.90 0.32
7~ 8RFLE 0.13 0.20 0.53 0.94 0.34
17~ 1805tE 0.13 0.19 0.53 0.95 0.34
7828 [11~12858 0.13 0.20 0.53 0.96 0.36
7~ SBSLE 0.13 0.22 0.54 0.99 0.28
17~18B%tLE 0.12 0.19 0.52 0.87 0.37
718 [11~1285t8 0.11 0.20 0.52 0.93 0.33
7~ 8RFLE 0.12 0.21 0.50 1.01 0.35
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